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EI Compute the volume of
the solid obtained by rotating
9 2 2 3 for 0 x 2 about the
y axis a
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Try to computerthe washer at
height y area

this is a hassle

Acyldy
finding

b requires finding area

differentiating requires solving1 2 2 3

AlternEppner
Approximate the solid with

cylindrical shells
subdivide the region under the
function into rectangles
approximation
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then rotate the rectangles
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volume of this cylindialshell
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let Δx 0 or let the
number of partitionsgo to a

Thisgives the volume of thesolid as
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Reads help remember the formula
unwrap the cylinder
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volume of this is 2Tx FA 1
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DisksandWashers vs Shells
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87.8L ImproperIntegrals

Ef Consider the function y
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Seems like it should be
infinite
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Consider his define II
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Definition of an Improper Integral
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For a ad it if that limit
exists we say the integral
converges Otherwise we say it
diverges We say Ciii converges
only when both of the improper
integrals of the RHS converge
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Imprperintegralsoftype.ie
Say F x is cont on a b

and discontinuous at a Then

we define b
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Cii Say f x is cont on a b

but disc at b Then we

define
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iii say f is disc at c but

cont on a c and c b

Then we define
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Same terminology for convergence
divergence

Es Integrate from o to 5
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Ef say few fift
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This diverges


